Report by Li Yucheng

Report by Li Yucheng Date. ... The definition of differential of eta Usually we define the differential of a function as two E Usually may: Usually may: similar may: (etA) = the the can define the differential of etA in a (etA) = the the can define the differential of etA in a We can easily see that : 2^{EA}-1-EA = E to EkAk - 1 - EA $= \sum_{k=2}^{\infty} \frac{1}{k!} \sum_{k=0}^{\infty} \frac{1}{k!} \frac{1}{k!}$ $= \sum_{k=0}^{\infty} \frac{1}{k!} \sum_{k=0}^{\infty} \frac{1}{(l+2)!}$ $|| \sum_{i=1}^{\infty} \frac{\varepsilon^{i} A^{i}}{(i+2)} || < || \sum_{i=1}^{\infty} \frac{\varepsilon^{i} A^{i}}{i!} || = e^{||\varepsilon|| ||A||} \xrightarrow{\varepsilon \to 0} ||$ $\lim_{z \to 0} \frac{1}{|z|^2} \left(\frac{1}{z} - \frac{1}{z} - \frac{1}{z} \right) = \lim_{z \to 0} \frac{1}{|z|^2} \left(\frac{1}{|z|^2} - \frac{1}{|z|^2} - \frac{1}{|z|^2} \right) = 0$ $\frac{e^{(t+\epsilon)A} e^{tA}}{11 - \epsilon} = e^{tA} \cdot A || = ||e^{tA}|| \cdot ||\frac{e^{tA}}{1 - \epsilon} - A ||$ = ||e^{tA}|| \cdot ||e^{tA}|| - ||e^{tA}|| - |e^{tA}|| = ||e^{tA}|| \cdot ||e^{tA}|| - |e^{tA}|| - |e^{tA}|| = ||e^{tA}|| ||EA - |e^{tA}|| : (etA) = etA. A